Consolidation work 17 Second Level ***
1.  5.5 + 7.9 + 20

2.  64/200

3.  0.3 x 1000

4.  25% of £36.12

5.  If a car costs £3500 when it is first sold and it loses 10% of its original value each year. How much will the car cost in two years time? 

6.  6/8 of 3232ml

7.  4g = ____Kg? 

8.  The farm has 1 horse for every 4 dogs. There are 12 dogs. How many horses are there? 

9.  Simplify 3:12

10.  1 adult ticket to the football is £25.17. How much for 4 tickets? 

11.  Round 143.06577 to three decimal places. 

12.  13 – 18

13.  3n + 7 = 25

14.  What is the area of a rectangle with:  length 9.3cm and breadth 6cm? 

15.  2 squared plus 9 squared.

16.  If the radius of a circle is 4.5m then what is the diameter? 

17.  I have two triangular faces, three rectangular faces, 6 corners and 9 edges. What am I? 
18.  4056 + 2989

19.  5698 – 3944

20.  How many seconds are in a day? 

